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APTITUDE & MENTAL ABILITY SOLUTIONS

1. Find the area of the iron sheet required to prepare a cone 24 cm high with
base radius 7 cm

a. 704 cm? b. 702 cm? c. 700 cm?2 d. 668 cm?

24 Q5.5 o wyupb USE P 7 6F.16 GetemiL gwib SHwmflds ChHemeuuwlmer
@D HBL196T LIFLIL SHT6wIsh

a. 704 cm? b. 702 cm? c. 700 cm? d. 668 cm?

Explanation:

Here, height of a cone (h) =24 cm
Radius of the base, r=7 cm

* Slant height! = Vré+h?
24%+72 = J576+49

= 4625 = 25 tm
“ Area of the iron sheet = Total surface area of the cone
= mrl+mr? = mr(l+r)

7(25+7)

= 22 x 32 = 704 cm?

2. The sum of the series 31 + 33 + ...+ 53 is
31 +33+....+53 aai3 OFHTLfeir Fn(BHeO 6TevT601?
a. 729 b. 341 c. 504 d. 604
Explanation:

31433 4 - + 53

=1+3+5+--+53)-(1+3+5+---+29)

= 27° —15% = 504.
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4. A circus tent is cylindrical to a height of 3 m and conical above it. if the base
radius is 52.5 m and slant height of the cone is 53 m, find the area of canvas
required to make the tent
a. 315 zm’ b. 3097.5 = m’ c.2782.5 = m’ d. 29975 =m’
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add these three Equations ( 2 a+b=k(a+b+¢
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